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Part A :General Intelligence & Reasoning

AT % ; gy e vd afie
From the given allemative words, sclect the ward which
cannot be formed using the letters of the given word.

i et 7 & a5 vez AT S R 9w e

& ITRRY T AT 3 €T AT AT AT |
VENTURE

AYRENT B) TRUE
C)TURN D)RATE

If D+l means |x-, L means '+ -’ -x\ means ! and I+ ' means
'+ then the value of the given equation is :

LI LN R F A N S B

AT =@ w1 g A faTRa aHtEoT # A
1 grem?

9+8+8—-4x6="7

A)ll B) 65

c)68 D)36

o i 12T & v v vg g &| Rw I A
PFea 4 & ag ReeT gAT 5 HgaH & g |

Directlons / {33 A senes is given with ane temm

Question Nos.3 to 4
YT S 3 T ATE

3

4)

5)

ACE, GIK, 2 ,SUW, YAC

QMOQ B)MPQ
C)MOP D) MNP
2,5,10,17,26,2

EASE A SR B BN

A)37 B)3%

e

C)38 D)33

Find the missing number from the given responses.
frw are Reed! 7 & Tod GEa1 AT PIAT |
4 8 2

3 2 2

5 8 2

60 128 68

A)13 9)17
C)1s5 D)19

1
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6) Aman facing south Wwms (o his left and walk IOthTh;
turng Lo his right and walk 15m, again he tums w‘hiq left

and walk 5m and then he tums to his left and walk -l Sm

In which direction he is facing now? v'

O cafed affo e A1 37 7w 70 wer g, o sy
10 % FX 10m ToiaT ¥ I 39 ST AT 15w
AT §, R 75 HUw 910 B3 AT Sm TaT § AT e
T HI T HF T 150 T ¢ | 59 A Tg hT
RerdA aw I ww?

A) South B) West
af@v A
C)North D) East
< o
7)  Find the number of triangles in the adjoining figurs.
FeTeT ITpie 7 sl &) T T ST
Quustion Figure ! ¥ F&fr
A F D
'\ ¢
1 S - J
4 S
B H c
A) 1o B)20
c)18 D)4
Question Nos.8 to 11

T EETsTNNTH

Directions / @ Sciect the related word / letters /
number from Ihe given altematives.

Rr v Baeat # & Gaaietid sleg / HEr/ a&3r F
gl

g) B:512:9:7
A)728 2729
C) 78l D) 792
9) ADIP:DGLS :: BEIQ:?
A)FINU B) QU
(.Z)F,HM'I' D)CGLS
10) AUTHOR :PEN: DOCTOR:
Eroc R B o SR
A) HOSPITAL B)DISPENSARY
FETATS Ftwtred

bm Tﬁtﬂ%@A‘iert.lnmxm
J i :

_/7&
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13) Some equations
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A)DRAOR : BROAD - 74254810 Wi : Srav gk od whaftn
C)CHART : TRACH B SINGI,E . 14) me‘the given answer figures, select the one in which the
D)w o *ELgN I8 question figure is hidden / embedded,
One O 0. Siatemenys BN, WoMAN & aré 3 IpTerdt H § 3 3o I A gAw
Conclusions / Assumpiig 8% given ¢ g T Wt e &)
the statement 10 be try, NS, Land 1 Y Olloweg by R
ot poaeicily km)w“' :Ven it 5;e ':u ve 1o c&m::;:. Question Figure / & FTgT
the given conclusions | .o YU ar o2 bt varignc [ ‘
drawn from the Eiy / 8 Plion, 0 decide Which of I
Statement: No eh statemeny, 1 ; . finite] %
SIATEHIERT: N0 man is 3 don, “CALe vour ) =Y be ‘ ’
Conclusions: ¥ Rahy| j5 4 mnlm“' l
1. Rahul is not a donk; n. T
ey, er Figures | s srptml
1. All men are not Ra}n)xl A ' R
TH 1 & g0y - T |/
| w3t A forerd
Il feremmey amy # | L=
o fraw A) B) C) D)
-

s Slagiliad mﬁlmqﬁ;:
. o RoT T e 3 gl Pt
ﬂﬁaﬂ?&/wﬁmm
Seart 47 Tetese AT |

=iEs ¢ |

e

| g aemaer & -

Il mafy cafda g LT Bl

A) Only Conclusion I B) Neither Conchsion I
fallow. nor Conelusion LI follaw.
e ey | Rwear ar s 1 R A
gl & 11 foveperal ¥ |

i D) Either Conclusion T or

o g:illgv(l::undmlm ! ) Conclusion 11 follow.
Faa forssd 1 eEy 1 || fasetar
e § | Y

are solved on (he basis I
1 D "0 v
Find out the correct ansWwer for the uns

{haf .
t basis, ﬁmmg’ﬁ

U 9 & FART AT 1o
9x612‘269,8x6x5=563-5-“ '

45
A)201 Bl

51
C)415 D)4

Download More Papers

n;cminsystem.
od equation o0 | | 7o et # & v G { H/ g gAT

15) 1f a mirror is placed on the me MN, then which of the
answer figures s the right image of the given figure ?

2 e T MN Y@ o T@r I A & a0 3R
S FarEit A & ler- epTey A T Y TWE

yfafee g7
Question Figure /T srsia

4|
+ }
mﬂigm

N
>
° ‘ Q
— (—
~

A B) o) D)

I

Question Nos.16 ta 18
o7 &I 16 F 18 TF

Directions / 3w Find the odd number/ letiers /
wiords from the given alternatives.

/
16)

j)KILOMEl'RES B)KILOGRAMS

C i e
C) TONNES D) QUINTALS
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10 R % : BT 3wy T ‘q
=08 Goneralintaligence & Ressoning __ AR2017-4254610 \“\
= 22) 1fNAME is coded s MZLD, how will CLATM pe o
- e 7
g 1h qﬁ:ﬂﬂMhﬁMﬂ,Dmﬁﬁmmga}M;}
AHUKNQ B)DEG] 1 13 3 forar s o ’ (
a ™ g vy
C)YZEE D) QKTW A)BKZII B)BKYHI,
18) C)BKZHL .
PL D)BKZHI
A) 154 BY119 23) Which one of the following dia pre
E) - ) relationship among: S represents
D)s1 Fruits, Mango, Banang
19) A Picce of paper js fulded and cut as shown below in the AT e 7 A Fhor-ar ﬁ@ﬁ“ﬁﬁaﬁm
question figures. From the given answer figures, indicate gau Frgefaryy
how it wil] appear when opened. )
mmm#mmmﬂm W 2,

FIE TUT G & a1 g vy ST Ty ST N -
) I/\
R o OO0 (©)) Ojo tocﬂ
Question Figure / %7 argfy \-/ \v/
B ¢ o)

. - Y
Of—:& D 24) Awordisrcpresenied by only one set of numbers as given

3 in any one of the alteratives, The sets of numhers given
a f - in the alternatives are represented by two classes of
Mﬂgw alphabets as in two matrices given helow, The columngs
and rows of Matrix 1 are numbered fiom 0 to 4 and that
: . > ) . of Matrix IT are numbered from 5 10 9. A letter from these
8 Z 2 (v o) - ° - matrices can be represented first by its row and next by its
¥ Par 2N g5 % calumn, ¢.g., 'A' can be represcated by 00,44, etz and '
can be represented by 56,79 et Similarly, you have to
A) B) ) D) identify the set for the word ZEST,
o y T e 3ol Uoh B a1 9 arar &,
20) Which onc of the given responses would be 2 meaningful -
e o s v P v 3 2 el e o o omar ) Rt 4 R
L. Family 2. Community 3. Member i i ;
i M e T HEAT HHE HERT & 31 a9t g@mr exiw oo, S

& i v wro 2t st 4 e 1 el
ot feredt & A Fior-ar faFrg o R v et ar afds e o4 A TE R IR =En NsFoje

T 7 it & 2 HTEZET B T I F OE ShT AT R A A
19faR 2 wEEy 3. 4eEg TFH HEAT CERT GRITET ST weha & | 3argaor & e,
v
4. FgenT - S.&w AT 00,44, 3T AN ZRATT ST e & w P A
A)3.1.2.4.5 B)3.125.4 $6,79, HTTE GaRT GUTAT AT HFeATg FH a6 ¥ T
C)3,1,4.2,5 D)3.1.4,5,2 et 3 R S5g ZEST % 00§90 11 qearar
~
21) The age of father is twice that of the elder son. After ten Matrix-T Murlx-lrll
years, the age of father will be three times that of the ﬂll ‘,;m P 7T8]9
younger son. If the diffcrence of ages of the two sons s 0[1f2/314 STE[P| 1L |M
lSycam.tbeagcofmef'atheris? 0|A ; 153 ](g i S X |WIZ MG
ﬁm#mﬁwﬁm?lmﬁmﬁmﬁm : E (A D|(S| [7[F|L[K|X]
- —— STs[p[T0[C| [B[GINEILIW
B T A et gt e | af; <t oot A g ot 15 : FIB[ORIA] [IN[PIXIZ]T
T T 3R B A Rar £ 37 i .
98.‘ ] .,' [
A) 70 years B) 55 years A)89, 13, 03,01 T 4504
70 7§ 55 af C)89, 31, 30, 01 Bpetes
C) 60 years D) 50 years
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~ Answer Figures | Ser srpfvt

|

¢

ich answer fipure will ¢ AR2017.-425461
Whic omplete {ha Pettem in the
qugstiﬂﬂ ﬁgum? Ly

m;ﬁmiﬁmmmﬁmﬁmm?
Question Figure /TN Fgie

TR

g

.,——)—-'—jl

1 A B)
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BT W : Hearers afify

part B : Numerical Aptitude i
s adRRARERERNH 30) By selling a coat for Y630, a shopkeeper gai "
Mﬁﬂm the cost price of the coat ? BN BRI P
: e GG B T 630 A U AT AT I 5% Fr ey
Lok BLIGLE ‘-‘@33. - StaT & | FIT T @ AT Ad FfSe
26) P invests 29100 for 3 monkhs, Q BVEES g l
months and R T8190 for 3 months in a business: A)T 650 B)T 625
total profit amounts (0 7 4158, how much profit should C)? 600
or %) D)T 700
3 e AT L9100, 0 2;“-,;%:%'0 31) Tw:o \"zfricties of sugar arc mixed together in 3 certaj
ecers SRR 5 mﬁmzamﬂﬁa’fm?' ofe :::‘u.o: l:: costp;fi the n:;x;urc per Kg is T0.50 less 1}.:,
e superior an 0.75 m that oo o
wmﬂm 74158 ¥ Q =} e o el varicty. The ratio in which the sc\:l:criu:naﬁl: !:;c‘-m
! varjetics of sugar have been mixed is: ne
mfEe B2 Fir 3 el 1 B g S
A)2 346.50 B)T 693 e & FvTIR K @ mﬁwm e
C) 682.50 D)¥ 1386 A AT 3K3‘:1Tuﬂf ﬁmﬂﬁfﬁ
0.50 HH L
27) A contractor has the target ol completing 2 work in 40 e - i
: " ¥ g wife & 9 s afea B ae
days. He employcd 20 persons who completed ( fay of fasat 3rerarel 3 e
the work in 10 days and left. The aumber of persons he N il
has 10 employ to finish the remaining pert & per target is: A)2:3 B)S: 1
e S T A 40 e T [ T C)s:2 D)3:2
zoaaﬁaﬁwquammfsﬁ‘hwﬁﬂﬁw 32) BQandR -
» Q and R can de a piece of work in 60 days , 100 da;
e g T IR ST T AT | T A TR & and 80 days Wctivcly. They touether work to finish ﬂ{:
% SR B et et = work and receive T 2256.Then P will get?
m‘l“““ ' et ———"a P, Q 3T R FT F7H Y T 60 A, 100 A 380
i - e F FT T & & T A WA F foe fRea
poity . TR § 3T 2256 oo A ¥, & P! e v
AT BT ?
28) The average of three pumbers of which greatest is 16 is
12, I:;]'tg smallest is half of the greatcst , the remaining A)T 960 B)T 576
num 15:
. . C)¥ 564 D)T 752
shamﬁﬂmﬁa#aﬂﬁmmt,sﬂamzm 33) A}bo ;
a0 s T B . box contains one rupse, fitly-paise and twenty-live
AT N A T I AT B &Y A T =T paise coins. The total number of cains are 373, The ratio
grefe of values of the above coins is 13 : 11 : 7. The pumber of
5),1 . 8) 14 twen:y-1ive puise coins was:
o oad s a3 e ST R Al 25 4 F ReERE
A . o] Y T HEAT 378 ¥ | Fuder R & Hwal &1
) A person eavers a certain distance in 6 hours, if travel '
40 Km/' hour. If h2 has to cover the same d Lar i pe vy 1o [ :7&@8%#@%@@
hours, then his speed must be: psance in 4 Ryt 2t ?
afg ; .
aﬁmﬂ:%;ﬁawwmaﬁmﬁmm A)132 B) 78
@4&;;@!!6@#3?”“ ¥ o ad €)210 D) 168
A & it s Y Feret gt i | 34 : ol
A)50 s /ot 5 : } The Selling price of a radio was Y255 when 13% discount
P ) 80 Km / hour was allowed. Then the marked price of the radio was 7
A 80 R530r 9fy wer v Y w5 AT A 15% WE S H A I3 ar,
70 3 9 e S i 3ifaeT e F1 40
Hr iy o
ger A)T 400 B)T 300
C)T 350 D) 275
P Download More P
aper
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35}

36)

a7)

38)

The unil's digit of the number 6% - 4256 jq .
[T 6% - 4756 FT YA I T

tions/ ney
A i e yrred on the printing of a book by a
cy 0)7 exg;:hdg:"srfnc yanous heads. Study the pie-diagram
Ram} g:;d answer the questions: - .
15 income is T100 more than that of Shyam. If the qﬁm’c“’f g &N g??ﬂ" za T
average income of Ram and Shyam is %850, then Ram's o e aTe T AU T &

jncome is!
e & 3T A Y HA A T100 HOFF | Wi T
v e 8 e 3T X850 ¥ T A i Rt

&

T 900 B)< 300
C)T 850 D)X 475
1, th e 1[ 1h .
In a collcge, /5 of the girls and /8™ of the boys took

in a sacial camp. The total number of students in the
college ook part in the camp i8

mm#‘/smﬁmﬁaih*!amaw
mmmﬁmm‘mﬁwmm
2 frfar & s T

A) L B).Z
80 13
c)4 D)13
IS 40

Fach side ol a square is increased by 10 %. The
perceniage increase of its area is:

uﬂv‘raﬁrmeﬁgmﬂlmmmtaﬁm

W#ﬁaﬁqﬁﬁmﬁm
A)20 B)2S

¢ 40)
c)2! D) 12

LS

fgm

Download More Papers
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39) Jrthe expenditure incu

-

g7 §EAT 39 F A0 Tw
s The pie- diagram shows the

tred on the printing under head A is
75000/, Then the sum ol expenditure incurred under head
B und 1D is:

e A i & 3edTer HOT TR 5000/ @1 =T AT I

¥ Ar e B motmaﬁﬂmérﬂﬂmm
2em?

A)€ 5781 B)Z 7850
€)% 8750 D) 8570
L

The two expenditures, which together will lorm an angle

of 108" at the centre are

-2 2 e TR s 3 1080 T HHOT AN
B)D&E
D)B&E

A)JA&D
C)A&E
A two wheeler depreciates at 20 % of its value every year.

If present value of the same be I90000, it -
= 0 S d.c
value would be T36864 afler: preciated

T guRar F i 3§ 20% AEE FH A S & Al

ST FEHA HET 90000 & A 3
36864 Trerer af & g 0 #ed wiaa 7e

A)3 years

C)4y3m D)S
474 years
5% b
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42) A sum was doubled with 1212 % rate of simple interest,

43)

!

44)

435)

46)

Then time tuken for that sum is:

annum.
:\;nﬂ‘l 121/ v & e IO 2T O G B
mta\m:ﬂ#:mﬁsaﬁlmm?
A) 10 years ;'H* B)S yuears la‘i‘
C) 2 1 years /T8 D)g 1 years/ T
253 -
2

The price of a bicycle is murked by a trader at T 1000. He
«ld the bicycle allowing successive discounts of 20%,
‘10% und 5%. Thus the trader gained 14% then the cost
price of bicycle (in rupecs) is:

e e o TS fRe T He 1000 HR R 3t
T T 20%, 10% 3 3% Y FAF Fr e A AT

2T | S W 3 Tacll 1 14% 1 SIS AT |

el T ARt Hed e (T ) &
A)790 B) 600
C)s10 D) 560

The price of eleciricily has heen increased by 25%. IF a
persen wants to keep the expenditure same, then the
percentage reduction in use of electricity should be :

R fr fra # 25% AP eE T AR WS =
G 3T & TG TR & A TASTel & SERIATT A 3N
farcrey el oty ety g 2

A)19 B)20

C)2i D)18

A dealer marks his goods 20 % above cost price. 11e then

allows some discount on it and makes a protit of 8 %, The
rate of discount is:

U Tashal 30& WATH W &6 759 F 20% ifers
A AHFA AR | IaRFo geearg iR
8% T S8 AT & | T &3 v e

A)6% B) 10%
ra
C)4% D}12%

The radius of a sphere is doubled. The percentage of
increase in its surface arca is?

e Ao Y P gt HU A A B 36 o 6
1 g & wforera Fr g m

A} 100 B)400
C)7s D) 300
r

Download More Papers F
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48)

49)

50)

2 2t 35 Tt 3 v arer Py TR g
T, 0 T Iegarer 3Ry o
A)3:2

C)s: 1

A man travels 600 Km by train at 80

by ship at 30 Km/our, 500 Km by

; d s ¥ aetoplana at
Km/hour and 300 Km by car 4l 60 Km/hour: What i:t?i
average speed(Km/hour) for the entirce distance 2

U ST Gt Z@IT 80 fheieiet wha wer Sy iy 3
600- TR, SrETet 3 30 Fraitwier i frafy ¢
%muﬁmaaﬁmm fAreiees wherrer 4y
ﬁsogﬁm\mmmm@m
aﬁmﬁmﬁr#m}miﬁrmmtm&

v A 3H Hrwa At B (Reeieiiex wfr den
grfr2

B)2:1
D)3:1

Kmour, 600 Ky,

A)63 B)g, 7
27

Os67 /D) 597
27 27

A man retired from his service at the age of 60. He served

for 3f 5" years of his retirement age. Ile joincd his job at
the age of :

o =gTae 60 a9 Fr g F A 13 | 38 o
Farfegter 3y & °fs af dar # | 3w A
At fhe g A Y& &N

A) 20 years B) 18 years
2059 189
C) 24 years 9_36 years
47 36 af

Aman purchased 120 reams of paper at T 80 per ream. He
spent T 280 on transportation, paid octroi at the rate ot“?o
paise per ream and paid T 72 to a porter. In order to gan
$%, he must sell cach ream of paper for

e =TT & T 80 i e fraw ov 120 R FEE
a-aaummwzzsowmw&ﬁqﬁﬁmﬁ
g war R A FA F T 72 AT SN H
T3 Tee T 3 T Y R FTeT e ¥9E A
AT R ?

3390

B)T 85
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would call an honest man,doesnt

Directions : Sgr::-s&?,? o o

errors and some a, © sentances m

the sentonce has an gono"??,', sr‘nd out whic "azah::?
cormspon_ding to the approp n.azam“ ithe circle
sentencs is free from srror correct option, if

: blacken the cir:
s L the cirte
cotyea Error” option in the Answer

§1) This sponge is not able (o absorbing water

89) He is not what you

- honest
! nes

A)Heis not what B)i‘;’;\*Mﬂd cult an o
C);k\csn‘t he? D) No errer

60) flc has not been attending Fnglish clagses for one
week. o
A) He has nat been B) Englith classes

attending”
D) No error

) for one week

A) This i . Zion Nos.61 to 70
) Sponec is B)No error pirections : Sg;,‘,:fw‘:s given with blank io be filled
C)not ablc to D)absarhing water ' vith 8 ppropn'ate word(s). Four alternatives are
52) 1 think : suggested for each ques ion. Chocse fflf:,mn?f e
am thinking 1 will go to th o thi stod ' wermative out of the four & i e
Ty g e market later this g‘;ﬁ‘;ﬂ:;ﬁng oo comesponding circle i the
A)T am thinking B)No crror nswer Shect i
i , 1) Since she is & tescher of language, onc WO not
C) later this afternoon D) 1 will go to the market ) e;pcct her to be guilly ofa
53) 1 am too much pleased to know that you have topped A} selecism B) bormbast
the list. €)schism D) stanchion
A)to know that B) you have topped the list .
ad PP l 62) Annaisnot popular. Shehas friends.
C) No error ID I am too much pleased
' A)alittle B)afcw
54) Have you been doing what has been asks of you? .
C)iew D) little
A) Have you B)been doin .
JHave yo )bc 8 63) Sally parked and got the car quickly.
C) what has been #sks of  D)Noemur =
you? grout of B)on
55) We rejoiced at his being promoted. C)in D)over
A)being promoted. B} No etTor @ __shecan' drive, Anita has bought a car.
C)We rejoicod D.) at his (&) Since B) Even though o
56) Kindly submit your documents to the clerk. C) Whether or not D)Even if
A)fo the clerk. B) No error 65) ;’:: ;E:: have to fax‘:e some practical problems when
C) your documents D) Kindly subnit ——— (his plan.
L) o iy A)prosecuting B) proscribing
i i inti e gallery. y
57) It is amost beautiful painting inine g C) prescribing D)exccuting
It is a most B)No errar .
A)ltis a mos )' 66) They were worricd about a new cult which
C)beautiful painting D)in the gallery- many followers,
58) Love for ours environment is enough to protect A)must be gaining B)were gainin
nature. C)was gaini .
o e D)is gaini
A)No error B)ours environmeni 67) Th . gaining
€ actor died when his
C)is enough to protect D) Lave for car turned
narure. A) turile B)
tortoi
c) across SC
» D) tiper
™
N-206212371(10) d More Papers Frpom GovtJobSAlert.n o
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™ Part C :General English ;
68) A man is known the company he keeps. 77) Al ina mess, M\
A)of B)by A)disturbing B
i C) negligence Tranged
; D)in ;
C)for ) . 0) distracting
69) He must __the lnans. 78) A number of people listening « »
R concert o leclum
A)repeal Blrepay A) group B)audience
C)repeat E) receipt C)tribe D) spectatgr
70} The convic uv. - * Question Nos.79 to 83
] victwas____ o Monday Directions : A sentence or 8 I!Jlan Of the sentence A
AVt i underiined. Below are given aleMmatives to e
hanging Epha"*‘ed undenined part which may mprove the sonfeng
C)hang D) hung Choose the correct alternative. in case no :
- improvement is needed choose "No improvemang
Question Nos.71 to 73 - .
Directions : Oul of the four altematives, chooss the 79) How long L shall stay = doubtful.
one which best expresses ihe meaning opposile to
the gjven word. ————mp A)l can stay B)' will stay
I want to sta D) No im
71) Authentic C) I'want to stay D) provement
80) Even at the peak of her success, Kalpana Chawla did nol
A) foke B) honest forget her home or her duty towards other human, this 5
C) frank D) futile evident from the fact (hat she distributed education of
girls in India.
72) Methodical A)shc contribulz to B) she contributed girls for
B educution of girls. educstion.
Ardery Py C) No improvement. D) she contributed to the
C)randam D)crazy education of girls.
73) Polite B1) Every person was not fitfed for cverything.
A)rude B)rough A)is not fit at B) No improvement
C)tough D) rash C)was not fit at D) is not fit for
Question Nos.74 to ?8 82) The doctor scribbled his prescription which 1 could ot
Directions : Out of the four altemaiives, choose the make oul.
one which can most appropriately substitute the
iven word(s) or selience. A) maoke over B) make up
e C)make for D) No improvement
74) In a primitive or uncivilized state.
' 83) Neither partics deserves our help.
A)rural B)savage
C)village D)alden A) No improvement B) purtics deserved
£ C) party deserves D) parties deserve
©  75) Happening cvery year. s
Question Nos.84 to 86
A) annually B) routine Diractions : Out of the four alternatives, chocse the
C) timely D) season one which best expresses the meaning of the given
word [ —
76) One who believes in God.
| 84) Stationery
A) pilgrim B) belicver cories
Iriting Accessoric: \mputer BCCEss
C) theist D) worshipper e Rpcat
- C) Moving D) Fixed
. Download More Papers|From GovtJobsAlert.In
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' 85) Abhorrent

, 84) All and sundry wore bsked & ,
A) leregularity B)Repugnant immediately. o 10 Jpees-ithn il
dmirable
C) Admirable D) Uncommon A) some people B) all the people
86) Innocent ; C)all the adults and elderly D)all the adults
A)Guilt g 05) Joecanbea looge canon sometimes.
S D) Guiltless “’i’&f&i"é.“‘” i G
Question Nos.87 to 92 §
, . t C)anc who acts crazy. D) one viho is
g{lqm::g;s. Four words are given, out of which onfy ? ! unpiredictable.
ey is corractly spelt. Find the correctly spet Quastion N0s.96 to 100
, o A A .96 to
Directions : Read the following passage carefully

87)
A) municiple B)munesipie
{:} munecipal D) mumicipal
88)
5) journal B)jornal
C)jomale D)jurnale
89)
.A) liccnse B)liscense
C) liscnse D) licanse
90)
A) harrass 9 harass
C) harmas D) haraas
91)
A) saperate B separcle
C)sepasle Dscpersie
92)
A) exhilarale B) oxhelerat®
5) exhilerate D) uxelerate
Question Nos.93 to 95

Directions : Four alternalives are given for the

Idiom / Phrase underiinad in the santence. Choose
the altemative which best expresses the meaning of
the Idiam / Phrase.

93) The preseniation by the Broup & he mecting DEssEd

and choose the most approprate answer to gach
question oul of the four altematives.

Passage

At times there was something inhuman about Mr. Rogers,
the Headmaster. Tlis lormidable chin fitted out in the
most formidabie Way., and he seemed to be always
frowning a the world i general, At the asscmbly he was
like an inspecting officer in toe army; he surveyed the
gathered intiocents swith his crinkled ¥es, and then began
his list of moming rcbukes. Any hapless offender, for the
most venial offence, would e commatded 10 appeul
betore his presence in srant of the gatherod ranks, und
would then be subjected 10 & tiradle of abuse that would
leave him trembling or eveD in tears. Mr. Rogors was
ruthless and eruel in public. "A dehydrated old sadist"
\was how Mr. Jones, the chemistry master described him,
The extraordinary thing was that in private he could
he magnanimous and gentle. Any hay _@nguﬂign
trouble would receive 2 sympathelic hearmg, and went

g

out fERIg it The burden had becn ligheret

96) What best describes Mr Rogers al the school

assembly?
}) ruthless and cruel B) a sensitive army oflicer
'C)a formidable teacher D)a genial person

97) The staff considercd Mr Rogers 10 be_ -

A)aun intimidating persen B)a person to be idolized

£)aperson without any D)a genlle and
seruples understanding persen

98) "in amost intimidating way" means.

A)in a very fowl way B)navery helpless vy

C) in an exiremely infimate 42) in an extremely
manner frightening manner

99) Another word for 'maghanimous’ is !

m

A)achieves to impress- B) meets required standards:

C) dogs not meet the
reﬁ@&m

d More Papers Frd

D) fails 10 iMPress.

)A) generous B)high handed

C) magnificient D) arrogant
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IPart C :General English
100) What happened to boys wha visited him in private ?

They looked even more

A) They came out trembling B)
wotried (han before.

and in tears.

C) They echoed the They seemed relieved of
sentiments of the staft their troubles.
members.
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104) Under the Constitution of India who are (he ultimale

sovereign ?
ST &5 TS & 3icrter R A e K
A)President of India. B) Indian Peaple.
HRa & el ARy s
C)Prime Minister of India. D) All elected leaders af
ST & YA Indis.
AR & @ A
ar

o eenerai@ifiload More Papers+rom GovtJobsAlert.In

part
5 *‘**hnan’ﬁgﬁ§1o WO W : HTAT AT
ﬂiﬂ——-%m% 105) Which of the following does not belong to physical
S % ; W epvironment? |
101) In earth atmasphere, which of the gy Erfatia # ¥ P g= it qefiaor &
decreases wit‘h hci@:t? g °"°w1"8 Continuously a8 87
et & g A, PR # a 4 A) Lithosphere B) Atmosphere
Wind veloci ’ Hemisphe D) Hydrosphe
A) qal:r a-: ocity B) Temperanie C) Hemisphere IHydesphen
AR
C)Pressure D) Humidity J‘IOG) An example of a solution of liquid in solid is:
a amdar <~ arg A T T SO
102) Which statc in India has the largest coastline? 'A')jell)' B)rubber
R # 5 o & Je T wad Edr ™ i
A) Andhra Pradesh B) Gujrat c):::l D)smoks
e i \
C) Tamil Nadu D) Miharasht _f}?) Which one of the tollowing is not corrzetly maiched?
aFaEs HETE FafefRa & 3 Braw af e 7 B A p?
, A} Iran-orc - Kudremukh  B)Copper - Kherri
\/103) The Crop Development Programme of the Government vl )‘_;: T - T ) ot Wkt
.~ India covers which of the following groups of commercial 4 i o=
crops 7 C)Manganese - Koraput D) Coal - Singreni
TR G F WA A FE T A 7 AT - PN Frerar - R
RefafRs # & B afMEes wadt & T M ,
108) Which was the instrument that was played by Ustad
nar g2 Bismillah Khan?
A) Tea, Cotton and Rubber  B) Jute, Tea and Coffee srame Rfwedrs @ Fia W AT e A7
g, FIE 3R @S ¢, i AT & A)Sitar E,sm.ma
C) Cotton, Jute and D) Tea, Coffec and Spices frar uEATE
Sugarcane arg, & HR FEA C) Santoor D) Flute
E argd

109) Loss ol water in plants in the form of liquid is known as:

et 7 e & &9 & T A A A FFEA L

A) Osmosis " B)Imbibition
qIEIoT Ao
C) Transpiration D) Guttation
L e Tl e wsa
110) Which memory is both static and non-volatile ?
eyl vy i 3T BRI atertid ?
A)RAM B)CACHE
C)ROM D) BIOS
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Part D :General Awareness

111) The Modi Government at the Centre has formed NITI
AYOG by replacing which one of the following?

mamﬂ##a#ﬁmﬁfaﬁﬁﬁﬁmwr

& e qT At T @ o R &7

A) Finance Commission B)Planning Commission
faea 3w aStT AT

C) Agricultural Price D) Fiscal Commission
Commission TR FrT

- FN Heg AT

112) Poverty in India is measured through one of the following
criteria '
T I # Frae PtaTad 7 A R AAEE
ZarT AT SAAT S ?

A)number of rooms of the B) intake of the calories
residence - Ll
AT & R A

C)education level of the D) number of family
family members
ofar F1 dfRs &R i e Al

HeEar

eral of India is appointed by the:

113) The Atiomey Gen
s 3 Sy e 1 e Pz @R ST
Cy
A) Prime Minister B) Law Minister
9 President of India D) Home Minister
HRa & Tk D

114) Which of the following can Not act a5 a bleaching agent?

ErrRTR # & 7 R AR T HA AR W
Hahar?
A)Nitrous nxide B) Sulpher dioxide
C) Chlorine D) Tydrogen peroxide
AR FEsIe WIS

115) Which table in an operating system contains information

~ about all the open files?
ST Rvees 3 River v # Tl el el
AT T B2
A) open-file table B) open-seck table
T8 aaer er-AvE T
C)open table D) open-location table
Hoe 2arel - e
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116) T.hc aim of the Antyodayu Programme is o
AT FHFA 71 wew w2 i |
A) Uplifting minorities B) Eliminati
i sl s ing urban

C)Improving the A o
of scheduled g:i:;darﬂs [p:;?;:g l}':’pl;::‘ =
yIERE st & e & o wed i
X F gur it B wEEA Fer

1}'{) I‘J\V;\l:ch of the following states has recently lannched the
apurna Rasoi Yojna for providin, i
weaker sections at subsidised rates? Ny s o

rfarET # & B I5T J FAeR ot w
afear M9 Ramd &1 W suery =@ & [{u

T & Jrerqult TR o 4F 2
A) Uttar Pradesh B) West Bengal
3R W Qe gamet
C) Mudhya Pradesh D) Rajasthan
_qET g THe
118) For Commercial Banks lending the Priority Sector’
denotes:
AT deT gar SUR &t & fore rafRda &7
el afaTas 87
A) Self employed B) Small indusirialists
= Frefsa g U
C) Agriculture and Small D) Small farmers
scale industries ar A
By AR g 34T
119) The toxic metal associated with the Minamazd episode ist
B e e ai S UL
A) cadmium B)lead
Fefaad e (3%)
C)mercury D)arsenic
URE kyined

120) The release of which of the following into ponds and
wells helps in controlling the mosquitoes?

mﬁi@a##ﬁ;ﬂmmﬁﬂﬁm

sret & foriAvT 3t wgrE e 87
A) Crab B) Dogfish
FF3 srarfiner
C)Snail D) Gambusia fish
gren > At
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421) Sun Yat Sen was the lcader of 125) Whicls one of the followi i R
w 3 v
et T A R el A7 Spices' ? owinig, Stales 15 known as 'Gupgen of
A) Taiping Rebellion B)Boxer Revolt Groiciich! 7Y BT U Y HEWL ¥y =
amsfer BT afFe ReE AT E?
C)CPCParly ° D)K M T Party A)Kerala B) Kamataka
¢ p C gt K M T 9réf el TR
. C)Gujrat D) Tamil Nedu
422) Abiome is: .
IR
fedm T FREa
A) A group of plants B) A delimited arca 126) E:ia\:;d;: s wherc the Buddhist monks worshipped were
growing in a particular : L
it TR & ot T el ) e e & Pl Tl e
ey FarfRre 8 3 3T Fa o
grar il ST FAE lyCha'mm B) Mathas
C) A complex of D) A collection of rare o e
communities plants & animals C) Viharas D) Stupas
characterised by qiefoa
distinetive climate & i , i e
yegetation ' el 1 HIE 427) Which of the following is a semiconductor :
Rftre FFag T PreTita # & Far e
e A 2 A)silver B) copper
AT e GicH
423) The lens of the eye is behind the: C) glftss D)silicon
mtmmmm#? & R
A) Pupil - B)Vitreous human 128) Milkiness observed on passing carbon dioxide through
fd fagw &I lime water is due to the formation of :
C)Retina . D)Optic nerve ﬂarmﬁméﬂ-grsaﬁﬁﬁ‘s & e T
e JffeeF ad ey 7o & R AT
. jum chleride
124) Which of the fallowing income will ngt be included in 9)C31°“"“ carbonate B Calcium CUoH
national income caleulation? FiowTd FrATC o FATTS
fArfafad A ¢ Paver 37 Y TG 3T Y A ¢) Calcium hydroxide D) Calcium bicarbonale
mfhﬁaﬁﬁmarm ? A mﬂrss IR A%
A) Income of a joker in a B) Incame of & com mercial i d of luxury goods is:
circus company artist 129) Elasticit o e o &y direr et €7
; Ry 0 R A ;
TR FOR F NG e B & .
han one B) Infinite
T e A)Lcss i
C) Commission i LA
ission income of a D) Individual's income from
# share broker ) sal::f usﬁarsc:s ’ C)Zere ¥l Mm;“:f;:c
YRR TR S AR AE L ==
Eainy
enfara 39
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Part D :General Awareness

130) A system program designed to aid the programmer in
finding and correcting errors or bugs is known as:

syt 3 it o e et 7 IR i T & e

FATT I RATTH WIITH Y AT gt 87
~  A)Debugger B) FEvaluator
R LLE U
C) Corrector D) Quarantiner
R FaRRA

131) Both the Trupic of Cancer and the Tropic of Capricom
~#  pass through:

% Y T AE YT At T A AT §
A) South America B) Asia
zavofr 3R R
C) Africa D) Australia
ORI s
132) Who among the following built the Golden Temple at
Amritsar?
AR & & s At 3 o) Ay warar
qr?
A) Guru Gobind Singh B) Guru Teg RBahadus
C) Guru Nanak D)Guru Arjun Dev
T® AT 4% 3o o
133) Who has been elected as the new Secretary General of the
United Nations ?
Fged Teg A RgrETT e g A 7
A) Antonio Guterras B) Ban Ki-moon
< ARt I AR
C)Lewis Hamilron D) Juan Manuel Santos
T Effeed FH HaHd HeT

134) After a shower of rain, a rainbow is seen:
/ arRer i G & a1, §ara He s & e?

A}anywhere, irrespective of B)even in the absenee of

the position of the sun the sun
et o, wf fr Rt T F T A
T i 8
C)towards the sun D) opposite the sun
e #r R # g i T fe #
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135) Who decides ab o
M out the size and bershi
Council of ministers? and membership of the

HRRSE & I vd weerar F AR R
wATE?

-~ A)Lok Sabha B) Chairman of the Rajya
F T Sabha
o W & A
C) Prime Minisler D) President
Ut qgater

136) Varun Singh Bhati who won bronze at 2016 Rio
Paralympics Games is associated with which sports?

2016ﬁ3ﬂmﬁ$wﬁwqaﬁsﬂaﬁam
mﬁ-’;‘gm&wﬁm@ﬂ#mm

A) Badminton B) Short Put
d defiiem o e &
C) High Jump p)Javelin Throw
ER Lo srafaeT or
437) The maximum number of Mongol invasions took place
during the reign of ©
3ftprar AANTEATS JieaT R QT T & T ?
A) Muhammad bin Tughluq B)Balban
¢ HgFne e g e
C) Firoz Tughhw D) Alauddin Khilji
RIS gl Herzgw Res

138) Micrusoft Excel is a
7 mEFTETTE TEEd #4T §7
A) Graphics Packuge B) M8 Office Package
e T MS Hifhe Y&

C}) Electronic Spreadsheet D) Financial Planning

7 e wshe Package
facdr arser 4

In the Panchayat Raj System, "the Panchayat Samiti” is

1}9)

constituted at the:
eI TSt S e e AT e fRd
a7 o R e &7
&Sme level B) District level
T & fBram wa¢
C)Block level D) Village level
TR TR T TR
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440) Participation is an important element of every
wfarsiar fEeT Acayyt a= B?
A) Aristocratic system B) Oligarchical system
y=sa aT HNGST
C) Democratic system D) Monarchial system
7 i 7
ikl MEGE]

141) The Kailasanatha Temple (Siva Temple) at Kanchipurara
containing sculptures with paintings in the inner wall, was

built by 7
g # ey #ie (R 7w By
sfierty vt 3 Gt & T &$ v ¥, R

q=anar ar?
A) Narasimhavarman B) Ravivarman
NECECH
C)Mahendravarman D) Devavarman
&a 3
142) Element that is not found in blood is:
e B AT e AR T S
A) chromium 9) coppet
A amr
C) magnesium D}iron
AATTA i)
143) Govind Ballebh Panl SAZAr TESCIVOIT s Mtvated in :
A) Tharkhand B) Uttar Pradesh.
FNEs Feal T
C) Chhattisgarh D) Uttarakhand
TG eaTas
144) The teeth Jacking in Herbivorous animals is:
T el S HieT- gt B FA G S
A)Molar B) Canine
T () T
C) Incissor D) Premalar
il St
148) Of the following, which one is non-contractual eaming?
P & & s iR 3 i
A ?mﬁ‘ B) Interest
- =)
c
) Rem D) Wage
Ao

148) Which one of the following gases releuseq

plant is used as a tuel gas ? irom bio.gg
arat e AT @ e et 8 g % g
7 T S N 93 e
' A)Ethane B) Dutanc
ERg] e
C) Propanc D) Methane
ret “ e

147) The (tle of "Gangai Kegdat' G scopBaby the
following Chola King: e

TR A P Trel T A wSaE e
wHR @ 8

A) Vijayaluya B) Karikaln
B TR
C) Rajornja 1 D) Rajendra |
AT | ‘ wm
Volt x Sgcond is the unilof
”  goulemb
dree x Az e e ¥
RedllH
A) Inductance B) Resistance
S g
C) Capacitance D) Encrgy
qerfar 3
149) Excretory organ of cockroch is:
T T HeeoteT 373 T 3l 82
A)Nephridia B) Malpighian tubules
& Frendaft =faT
C) Kidney D) Malpighian Corpuscles
7= Ferciraft o
150) The number of playersin a th'saj team i3
goad R # fhad e 8 7
A)B B)6
)5 D)9
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